PHYS101

Quiz # 6

Name:___________________________  ID # : ____________  Sec #: _________

Q. An object of mass m = 2 kg has an initial velocity 

vi = (2.4 i   -   3.6 j  )  m/s


During a collision time of 0.05 Sec with another particle it receives an impulse

P = (3.2 i   +   4.8 j  )  N. s

a. Find the final velocity of the object.

b. Find the magnitude of the average force exerted on the object.
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Q. A 0.5 kg object moving with velocity – 5 i  with m/s collides with and sticks to a 2.0 kg object that is moving with velocity 2 j m/s . 
a. Find the velocity of the composite object after collision.

b. Find the kinetic energy lost due to the collision.
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Q. A 20 g bullet traveling with a velocity of 400 i m/s passes completely through a 2 kg wooden block and emerges with a velocity 200 i m/s . The block was initially at rest on a horizontal frictionless surface.

a. Find the velocity of the block just after the collision.

b. Find the kinetic energy lost due to the collision.

